Addendum No. 2 Revised Bid Proposal

Cheek Community Sewer Improvements - Cheek Phase V Grinder Pump Installation & Force Main

Jefferson County, Texas
TXCDBG Contract No. 7216231 | ACE Job No. 115-02

NO.	ITEM	UNIT	QUANTITY	MK Constructors 2485 North St. Vidor, Texas 77662	
				UNIT PRICE	TOTAL
1	MOBILIZATION AND DEMOBILIZATION	L.S.	1	16,450.00	16,450.00
2	FURNISH & INSTALL LPSS GRINDER PUMP STATION INCLUDING PUMP, FIBERGLASS TANK, CONTROLS & HOUSING INCLUDING ELECTRICAL INSTALLATION, AND 4" SEWER CONNECTION FROM HOUSE COMPLETE IN PLACE PER SUMMARY OF WORK	EA.	15	5,560.00	83,400.00
3	ABANDON EXISTING SEPTIC TANK	EA.	15	750.00	11,250.00
4	1 1/4" HDPE SDR-11 SANITARY SEWER SERVICE LINE, COMPLETE IN PLACE, FROM VALVE BOX TO GRINDER UNIT	LF	1,560	4.50	7,020.00
5	2" PVC SDR-26 SEWER FORCE MAIN COMPLETE IN PLACE INCLUDING SAND ENCASEMENT PER DETAIL	L.F.	532	35.00	18,620.00
6	DRIVEWAY BORE FOR 2" SEWER FORCE MAIN	L.F.	40	25.00	1,000.00
7	2" 45 DEG. BEND DI-MJ, RESTRAINED W/ MEGA-LUGS	EA.	1	150.00	150.00
8	2" GATE VALVE DI-MJ RESTRAINED W/MEGA-LUGS	EA.	1	450.00	450.00

Addendum No. 2 Revised Bid Proposal

Cheek Community Sewer Improvements - Cheek Phase V Grinder Pump Installation & Force Main

Jefferson County, Texas
TXCDBG Contract No. 7216231 ACE Job No. 115-02

NO.	ITEM	UNIT	QUANTITY	MK Constructors 2485 North St. Vidor, Texas 77662	
				UNIT PRICE	TOTAL
9	6"x2" WYE DI-MJ, RESTRAINED W/MEGA-LUG INSTALLED ON EXISTING FORCE MAIN LOCATED ON BROOKS RD. & DENLEY COMPLETE IN PLACE	EA.	1	500.00	500.00
10	2" TERMINAL CLEANOUT W/VAULT (SEE DETAILS SHEET 5 OF 6) COMPLETE IN PLACE	EA.	1	400.00	400.00
11	LONG SIDE SANITARY SEWER LOW PRESSURE SERVICE LINE FROM FORCE MAIN TO AND INCLUDING VALVE BOX AT PROPERTY LINE INCLUDING TAP SADDLE, 1-1/4" SDR-11 HDPE, FITTINGS, VALVES, & ROADWAY BORE COMPLETE IN PLACE (SEE DETAILS, SHEET 4 OF 6)	EA.	8	800.00	6,400.00
12	SHORT SIDE SANITARY SEWER LOW PRESSURE SERVICE LINE FROM FORCE MAIN TO AND INCLUDING VALVE BOX AT PROPERTY LINE INCLUDING TAP SADDLE, 1-1/4" SDR-11 HDPE, FITTINGS, & VALVES COMPLETE IN PLACE (SEE DETAILS, SHEET 4 OF 6)	EA.	7	500.00	3,500.00
13	"610" ROCK FOR DRIVEWAYS, LOOSE DUMP AND SPREAD MIN. 6" THICK	TON	120	55.00	6,600.00

Addendum No. 2 Revised Bid Proposal

Cheek Community Sewer Improvements - Cheek Phase V Grinder Pump Installation & Force Main

Jefferson County, Texas
TXCDBG Contract No. 7216231 ACE Job No. 115-02

			T	1 13-02	
NO.	ITEM		QUANTITY	MK Constructors 2485 North St. Vidor, Texas 77662	
				UNIT PRICE	TOTAL
	ITEMS	TO BE L	ISED WHEN D	DIRECTED BY ENGINEER	
14	MANHOURS WHEN AUTHORIZED BY THE ENGINEER	HOUR	5	20.00	100.00
15	TRUCK HOURS WHEN AUTHORIZED BY THE ENGINEER	HOUR	5	75.00	375.00
16	BACK HOE / LOADER HOUR WHEN AUTHORIZED BY THE ENGINEER	HOUR	5	100.00	500.00
17	FURNISH & INSTALL 4" PVC FOR ADDITIONAL LINES WHEN AUTHORIZED BY THE ENGINEER.	LF	100	8.00	
18	CEMENT STABILIZED SAND BACKFILL 1-1/2 SACK/C.Y. WHEN AUTHORIZED BY THE ENGINEER	TON	5	90.00	
19	EXTRA CLASS-A CONCRETE - BULK, COMPLETE IN PLACE WHEN AUTHORIZED BY THE ENGINEER	C.Y.	5	300.00	
20	EXTRA CLASS-A CONCRETE - FORMED, COMPLETE IN PLACE WHEN AUTHORIZED BY THE ENGINEER	C.Y.	5	500.00	2,500.00

Addendum No. 2 Revised Bid Proposal

Cheek Community Sewer Improvements - Cheek Phase V Grinder Pump Installation & Force Main

Jefferson County, Texas
TXCDBG Contract No. 7216231 | ACE Job No. 115-02

NO.	ITEM	UNIT	QUANTITY	MK Constructors 2485 North St. Vidor, Texas 77662	
				UNIT PRICE	TOTAL
	TOTAL				161,965.00
,	STATEMENT FOR SEPARATED CONTRACT COMPLI	ANCE:			
	NON-CONSUMABLE MATERIALS AND EQUIPMENT	Г:			64,786.00
	SKILLED LABOR, MATERIALS, EQUIPMENT AND TOOLS:				97,179.00
	CALENDAR DAYS			90.00	
	TOTAL				161,965.00

BY:

I CERTIFY THE ABOVE TO BE THE CORRECT BIDS RECEIVED.

William V. Larrain, P.E. - 51953 Manager Action Civil Engineers, PLLC WILLIAM V. LARRAIN

Addendum No. 2 Revised Alternate Addition Bid Proposal

Cheek Community Sewer Improvements - Cheek Phase V Grinder Pump Installation & Force Main

Jefferson County, Texas
TXCDBG Contract No. 7216231 | ACE Job No. 115-02

			Γ		
NO.	ITEM	UNIT	QUANTITY	MK Constructors 2485 North St. Vidor, Texas 77662	
				UNIT PRICE	TOTAL
1	FURNISH & INSTALL LPSS GRINDER PUMP STATION INCLUDING PUMP, FIBERGLASS TANK, CONTROLS & HOUSING INCLUDING ELECTRICAL INSTALLATION, AND 4" SEWER CONNECTION FROM HOUSE COMPLETE IN PLACE PER SUMMARY OF WORK	EA.	7	4,339.00	30,373.00
2	ABANDON EXISTING SEPTIC TANK	EA.	7	750.00	5,250.00
3	1 1/4" HDPE SDR-11 SANITARY SEWER SERVICE LINE, COMPLETE IN PLACE, FROM VALVE BOX TO GRINDER UNIT	LF	728	4.50	3,276.00
4	SHORT SIDE SANITARY SEWER LOW PRESSURE SERVICE LINE FROM FORCE MAIN TO AND INCLUDING VALVE BOX AT PROPERTY LINE INCLUDING TAP SADDLE, 1-1/4" SDR-11 HDPE, FITTINGS, & VALVES COMPLETE IN PLACE (SEE DETAILS, SHEET 4 OF 6)	EA.	2	500.00	1,000.00

5	LONG SIDE SANITARY SEWER LOW PRESSURE SERVICE LINE FROM FORCE MAIN TO AND INCLUDING VALVE BOX AT PROPERTY LINE INCLUDING TAP SADDLE, 1-1/4" SDR-11 HDPE, FITTINGS, VALVES, & ROADWAY BORE COMPLETE IN PLACE (SEE DETAILS, SHEET 4 OF 6)	EA.	5	800.00	4,000.00
	TOTAL				43,899.00
	STATEMENT FOR SEPARATED CONTRACT COMPLIA	ANCE:			
	NON-CONSUMABLE MATERIALS AND EQUIPMENT	Ť:			17,559.00
	SKILLED LABOR, MATERIALS, EQUIPMENT AND TO	OLS:			26,340.00
	TOTAL				43,899.00

WILLIAM V. LARRAIN

BY:

I CERTIFY THE ABOVE TO BE THE CORRECT BIDS RECEIVED.

William V. Larrain, P.E. - 51953 Manager

Action Civil Engineers, PLLC